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In [1] we have defined Pascalisation as follows:

Let by, b, . . . be a base sequence. Then the Smarandache Pascal derived
sequence

d1 ,dz,. .. is defined as

d1 = b]

h=b+b

di=b +2b+bs

ds=b; +3by +3bs + by

n
dn+l = 2 an -bk+l
k=0
Now Given Sqthe task ahead is to find out the base sequence S, . We call the
process of extracting the base sequence from the Pascal derived sequence as
Depascalsation. The interesting observation is that this again involves the
Pascal's triangle , but with a difference.
On expressing by ‘s in terms of di's We get

b1=d1
by =-di +d;
b3=d;-2d2+d3

by =-d; +3d2-3d; +d,
which suggests the possibility of

n
bet1 = 2 (-1, "Cy .dist
k=0
This I call as Depascalisation Theorem.
PROOF: We shall prove it by induction. v
Let the proposition be true for all the numbers 1 < k+1. Then we have
besr = Co (-1)¥*? dy + ¥C; (D) da +. . . +5Ci (-1)?
Also we have
disz =51Co b +¥1C by +. . . + G b +. . . + ' Cra1 iz, which gives
bz =1 ¥'Coby - ¥'Ci by - - ¥'Cr bt - - - - + iz
substituting the values of by, by, . . .etc. in terms of d,, da, . . . , we get the
coefficient of d; as

(-1) *1Co + (FMCIX-"Co) HCY(PCo) +. . + (1) KICY(Co) +. . A (1)

k+1 +1Ck k

SR, + 910, 10, - K10, 3Gy +. L (1) MG, TCo +. .+ ()R G, Gy
similarly the coefficient of d; is

k”C;. lCl + kd-lc2 . 2C1 +. .+ (-l)rﬂ. kHC,. rCl + .+ (_1) k+1 . k+le. I:CI

on similar lines we get the coefficient of di+; as
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k+1Cm. mcm + k+]cm+l . l’n"'lCm -+ (_l)rl—m. k+lCr+m. l""m(:m + .+ ('l) k+m. k+le.
k
Cm
k-m
h=0

(k+1)-m
2 (_I)h‘H k+lcm+h . I!l'HlCm -- (_1) kﬂn. k+]Ck+] . k+lcm (1)
h=0

Applying theorem {4.2} of reference [2], in (1) we get

=HIC 1+ (D)4 )R e,
= ( l)k'Hn k+1 Cm
which shows that the proposition is true for (k+2) as well. The proposition has
already been verified for k+1 =3, hence by induction the proof is complete.
In matrix notation if we write
[b,b,. bn]m*[P;,;]m [di,d2,..da]ixn
where [pij ]'un = the transpose of [pij Juxa and
[Pij Joxn Is given by pij="'Cjy if i<j else pi=0
Then we get the following result
If [qij]axn is the transpose of the inverse of [pij Juxa Then
qi; = (' )}H . Cj—l
We also have
[b, b2, ba]* [QiTma=[d1, dz,.. dn]
where [q;; J'axa = The Transpose of [qi Juxn
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